Math 2C03: Quiz #6

WEDNESDAY, JULY 29TH, 7PM (FIRST 10 MINUTES OF CLASS)
McMaster University

Name: *Mt% SC\\QMQ* Student ID:

Please answer each question fully, providing all work and reasoning.

Questions:

1. (12pts) The differential equation (1 +x?)y” — y’ +y = Ohas power series solutiony = ) _ c,x",
n=0
where the recursive formula for the coefficients ¢, is:

(n+1)cpgr — (12— n+1)c,
(n+2)(n+1)
2c0 —c1+¢cp=0,6c3—2c2+¢c1 =0.

Using this, write the first 4 terms for a general solution to this DE. How do you know this is a
general solution?
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